WEST BENGAL SHINE TEACHER'S OF EDUCATION TALENT SEARCH EXAM, 2023

*Every Correct answer will add 2 Marks
*Every Wrong answer will deduct 1 Mark

CLASS - 1X

Time : 1 hr. 30 min
Full Marks : 160
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10.

Which canal meets the Baltic Sea with the North
Sea?
a. Hsu

c. Nile

b. Panama
d. Suez
Plasmodium is an example of

b. Bacterium
d. Worm

a. Virus

c. Pratozoa

Dandia is a form of dance associated with which
of the following state?

a. Gujarat b. Rajasthan

c. Haryana d. Punjab

Where did the congress working committee first
accept the Idea of the quit India movement?
a. Puna b. Nagpur

c. Wardha d. Bombay

To whom the Speaker of the Lok Sabha gives
his resignation?
a. Prime minister

b. Deputy speaker of 1ok sabha
c. Presiden
d. Chief justice of India
Shining Star” is a symbol of which bank?
a. Bank of Baroda b. Bank of India

c. Indian Bank d. None of these

NIFTY is a price index of which of the following
stock market?
a. CSE

c. DSEE

b.” N.S.E

d. None of these
Which of the following nations was appointed
as the first Chairman of the United Nations

Disinvestment Committee?
a. Japan b. India

c. Sweden d. America

The word “blue hamlet” is associated with
which of the following?
a. Environmental activist

b. United Nations Peace Army
c. fire service worker
d. Road accident relief workers
The gas used in the artificial repeining of fruit
is?
a. Acetylene
c. Ethane

b. Methane

d. Butane

11.

12

13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

“Master of Master Gland’ is known as
a. Hypothalamus b. Pituitary

c¢. Thyroid gland d. None of these

Respiration is -
b. Reduction Process
d. None of these

a. Oxidation Process
c. Both of these

Which of the following animal can
photosynthesis?

a. Amoeba b. Hydra

c¢. Paramoecium d. Euglena

Haemocyanin is a containing respiratory

pigment?
a. Copper b. Manganese
c. Iron d. Molybdenum

Which is not poisoning among them?

a. Scorpion b. Centipede

c. Spider d. Crab
What is the phylum of ‘Octopus’?

a. Arthropata b. Mollusca

c. Annelida d. Cnidaria

Rohu and Catla are type of
b. Marine water Fish
d. None of them

a. Fresh water fish
c. Both (a) and (b)
The management and production of fish is

called -
a. Pisciculture b. Apiculture

c. Sericulture d. Aquaculture

Which of the following are example of
‘Prokaryotes’?
a. Algae b. Fungi

c. Bacteria d. Protozoa

HIV virus attacks one of the following cells in
our body -

a. RBC

c. Liver Cell

b. WBC
d. Lung Cell

Identify the mood the given sentence
Have you found your book?

a. Objective mood b. Imperative mood
c. Interrogative mood d. Subjective mood
Fill in the blank with verb form by choosing one

of the given options

I would fly if I wings
a. had b. am having
c. were having d. None
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23.

24,

25,

26.

27.

28.

29.

30.

Identify the part of speech for the underlined
word of the given sentence

I have something else for you
b. Pronoun
d. Adverb

a. Noun
c. Adjective
Choose the correct meaning of the following

proverb. “A broken clock is right twice a day.”
a. A new god will appear

b. The new era will start
c. even a person who’s not very smart can
sometimes be correct by accident
d. None of these
Identify the sentence with the correct order of
adjectives
a. I like that old black big antique scooter
b. I like that black old big antique scooter
c. Ilike that big black old antique scooter
d. I like that old big black antique scooter

Fill in the blank :
we are working we are happy and

healthy
a. As far as b. In case
c. Nevertheless d. Aslong as

What does the phrase “Utopian Scheme’ mean?
a. High Thinking
c. Impracticable Plan d. none of these

b. Great plan

Point out the nouns in the following sentence
It was Edison who invented the phonograp
a. Edison, phonograph

b. Edison, invented

c. It, was
d. None of these
Question: I've lost one of my gloves. I

it somewhere.
a. must be dropping

b. must have dropped

c. must have been dropping

d. must drop
Identify the type of pronoun for the word
underlined below
The moment which is lost is lost forever

a. Demonstrative pronoun

b. Relative pronoun
c. Distributive pronoun
d. Indefinite pronoun

31.

32.

33.

34.

35.

36.

37.

38.

Choose the most appropriate indirect speech of
the given sentence :

Amit said, “What a fascinating toy it is!”
a. Amit said what a fascinating toy it was
b. None of the above

c. Amit exclaimed that it was a very
fascinating toy

d. Amit said that it was a fascinating toy
My grandmother walks extremely slowly. The

adverb “extremely” modifies -.
a. a Verb b. a Noun

c. an Adverb d. None of these
Change the following sentence from Simple to
compound.

In spite of his poverty he is happy
a. Though he has poverty he is happy

b. As he is poor he is happy
c. He is poor-but he is happy
d. None of these

Find the phrasal verb for the underlined word.

The robbers attacked the passengers.
a. fell out b. fell on

c. fell through d. Fall upon

Fill in the blank with the most suitable option :

The student’s handwriting was
a. eligible b. illegible
c. indellible d. invincible
Change the voice :

Did everybody miss the first bus?
a. The first bus was missed by everybody?

b. Was the first bus missed by everybody
c. Everybody missed the first bus?
d. Had the first bus been missed by
everybody?
Change the speech of the following sentence

Ravi requested his mother to pass the salt.
a. Ravi said, “Mother, salt please.”

b. Ravi said, “Mother, please pass the salt.”
c¢. Ravi said, “Mother, pass the salt.”
d. None of these

Choose the comparative degree

He is one of the greatest poets
a. He is greater than any other poet
b. He is greater than most other poets
c. He is greater than any other poets
d. None of these
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39.

40.

1.

42,

43.

44,

45,

Choose the one word substitutions :
One who is marriageable is called-
a. Nubile b. Reticule
c. Profane d. Wallet

Choose the question tag

Do not go there, __ ?
a. do you b. aren’t you
c. will you d. doyou
Find out which of the figures (1), (2), (3) and (4)

can be formed from the pieces given in figure

(X)-

N

HARER

(1) (2) (3) (4)
a. 1 b. 2
c.3 d. 4

Find out which of the figures (1), (2), (3) and (4)
can be formed from the pieces given in figure

(X).
SRS

(x) (1) (2 (3 (@

a. 1 b. 2

c. 3 d. 4

Find out from amongst the four alternatives
as to how the pattern would appear when the
transparent sheet is folded at the dotted line

3] 4 [ K [

% O @ 6 @
a. 1 b. 2
c. 3 d. 4

Find out from amongst the four alternatives
as to how the pattern would appear when the
transparent sheet is folded at the dotted line.

AN Kd K 4 [
X) (1) () 3) (4)

a. 1l c. 3

b. 2 d 4

Choose thealternative whichis closely resembles
the water-image of the given combination.
NUCLEAR

(1) BYEICUM
(3) MUCT 3V

a. 1l b. 2

(2) MNCIEVE
(4) UINCIr EVYE

c.3 d. 4

46. Choosethealternative whichisclosely resembles
the water-image of the given combination

bridge

(1) pr1qde (2) pL1qds
(3) pr1gde (4) pL1pds
a. 1 b. 2
c.3 d. 4

47. Choosethealternative whichisclosely resembles
the mirror image of the given combination.
ANS43Q12
(1) AUShEOT S
(3) SNAEPOST

(2) STOELCSUA
(4) FSOPEAMR

a. 1 b. 2

c.3 d. 4

48. Find the number of triangles in the given figure.

a. 22
c. 26

b. 24
d. 28

49. Find the number of triangles in the given figure.

a. 12
c. 22

b. 18
d. 26
50. Choose the box that is similar to the box formed

from the given sheet of paper (X).
r N

T 9 o ¢
(1) (2) (3) (4)

b. 2 and 4 only
d. 1and 4 only

2

a. 1and 2 only
c. 2and 3 only

51. Choose the box that is similar to the box
formed from the given sheet of paper (X).

N
v 9 9 Y
(1) (2) (3) (4)

b. 1and 4 only

of |

®)
a. 1and 3 only

c. 2and 4 only d. 3 and 4 only
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52. Choose a figure which would most closely | 41. f5rg (X) awg G (ATF (1), (2), (3) 9% (4)
resemble the unfolded form of Figure (Z).
@I 915 20 AT O A T |

T TETE &Y TEEE

-

X

Sana 7 [ > anl
(1) (2 (3) (9)
G : ' :: ' : || a. 1 b. 2 c. 3 d 4
(2) (3)

(1) ) 42. T5a (X) 2ve GREIART (/TF (1), (2), (3) 9 (4)
a. 1 b. 2 I 9If3® 2T #A1C BT 71 T |

c.3 d 4 DVJ @@@@

53. In a certain code language CANDIDATE is = D ) )
coded as 31. How will LANGUAGE be coded

in that language? a. 1 b. 2
a. 27 b. 28 c. 3 d 4
c. 29 d. 30 43. TG TG AR Sier 1 70 GG FeIa
54. Some equations are solved on the basis of ?—15?_;1\‘3 W@WWWW@I
certain system. Find out the correct answer for :
the unsolved euqgation on that basis. g & 5 gé § j
2x4x6=4,9x3x7=13; 4 x7%x6=3,9%x7 a. 1 b. 2 c.3 d. 4
x8=7? 9 .
g - 44. FRAGH TIBT TR STe 1 T ABI T FIeI
2mf*s 203 Ol HIAG RFCER T (AT 0 g+ |
c.7 d. 10 @ y Q e :
55. If HEAD us coded as 37, BANK is coded as 57, i 6 @ @
then how will KITE be coded as? X) 1) 2 3) (4)
a. 89 b. 91
c. 69 d. 76 a. 1 b. 2 c3 d 4
56. Complete the series : 45. 27e M ‘water-image 93 AR DS
19,29, 40, 44, Ayl femfl (<t e
NUCLEAR
a. 52 b. 56 (1) BYEFCUM (2) UNCIEVK
c. 54 d. 48 (3) MUCT 3Vl (4) MINCT EVE
57. ST.ND, RD a. 1 b. 2 c. 3 d. 4
a. MP b. LP 46. =We AR ‘water-image’-93 A TFSIT
c. TH d. MX Ay fRemfs (02 o |
bridge
58. If 1111 _>.R'2222_>T' 3333 - E, 4444 > N (1) pr1gde (2) pLiqde
then 5555is __ (3) p11qde (4) pL1pde
a. U b. O
a. 1 b. 2 c.3 d. 4
cY d. P
59. TFVIII is 5, XIT is 6 then ‘X is 47. 2ME MR Mirrior Image’-93 A Ao
a5 b, 7 Ao}l Reafb (e |
) ) ANS43Q12
c.?2 d. 3 (1) AU2rEOLS (2) STOEPSUA

(3) SUAEROST (4) rSObEAMNC
60. If ‘'XII"is7,‘IX is4 then ‘X is?

a. 6 b. 5 a. 1 b. 2
c.4 d. 3 C. 3 d. 4
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48. s forg fagres i R g |

a. 22 b.24 ¢ 26 d. 28
49. =ws fora fagrem sk T 747 |

a. 12 b. 18 c. 22 d. 26

50. 2WE FIET AL (X) (ATF MP® AT TIA

G 5 7 |
N
9 ¢
<
(1) (2) (3) (4)

x)
a. WEME1ER2 b, XYT 2 @R 4
. WYME29aR3  d. 4G 19R4

51. 2wg FIET AB (X) (AF A AT T
A 539 9 |

LS
{1 ¥ 9 9 ¢
(x) (1) (2) (3) (4)
a. MY 1 992 3 b. XY@ 1 €% 4
c. *YNIF 2 GR 4 d. g 3 @R 4

52, @« @36 foq o3 =g A B () @3 Sraibe

O AT TR AT ALl |
RN
X Y Z
I =2 e e
(1) (2) (3) (4)
a. 1 b. 2
c. 3 d. 4

53. @36 WS (FC seEre CANDIDATE
(& 31 e @IC T M| Tl GRS
LANGUAGE (F1T 9 Z( ?

a. 27 b. 28

c. 29 d. 30

54. g iwad [AS Seser fefere swike =
27| (2 fofere &P Equation -9 iipad

T 4TS (@F I |
2x4x6=49x3x7=13; 4x7x6=3;
9x7x8=2

a. 8 b. 6 c.7 d. 10

55. M HEAD (& 37 f209d (&I© ¥4t 27, BANK &
57 fEE (@I© <41 27, ©igtel KITE & el

(TG A 2(I?
a. 89 b. 91
c. 69 d. 76
56. PifafED sovlef Tg1
19,29, 40, 44,
a. 52 b. 56
c. 54 d. 48
57. Tfafe® sl 571
ST, ND, RD,
a. MP b. LP
c. TH d. MX

58. T 1111 > R, 2222 —T,3333 — E, 4444 - N
T, O 5555 F A2

a. U

c. Y

b. O
d P

59. M VI 557, ‘XII' 6 2T, OIFET X T© T ?
a. b b. 7

c. 2 d. 3
60. M XII' 72T, ‘IX 4 T, OIFET ‘X 9 T ?

a. 6 b. 5
c. 4 d. 3

61. TIZT
a. a6 SIem b. G Jem
c. SaligH d. 30 SAIFI 7R
-X l 2x _

62. 5 =3 FA5 =F9?

1 1

a. 5 b. 9
c. 9 d. 3

63. 3x + 6y =15, 9x + 18y = 45 a9 7R
a. LN 7% b. @30 T
c. SRYJ AL d. @HEwy
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64.

65.

66.

67.

68.

69.

70.

71.

72,

ABCD ANBHA&ET LABC = /BACANSHF0 o7
G3fo

a. ?TSIiZ‘ﬁEéJ b. STeTFH
c. IR d. Gfeifemiw

(x) I AR (—-j 020, f(x) 99 930
@Q?ﬁwm

a.x-3 b. x+3
c. 3x+1 d 3x-1
x®—Kx-24=(x-8) (x+3),K=2
a. 8 b. -3
c. 11 d. -5

ABCD IR BC %7 W™ E, DE @3
3ffe AB, F fimqre fSfers 271 AF =2

3
a. EAB b. 2AB
c. 3AB d. %AB

a3 BRI MRCETT TAT 20% BE e,
R 27 40 BTl | ARe) T 2

a. 50 5 b. 90 BRI

c. 100 BI=l d. 120 Bl
SRIOTAR S B 2

a. AR b. cifel St

c. O d.. cafe oray

T Sl (RS g 9ftra @32 @5

SAOCHIN (Fgwe] PN S €8 R 20
a.5=R b. S>R
c. S<R d. R>°>¢?

225 B @ BIF, ¢o STl @3] 3¢ ATAT A
G 915w | 72 ST O A AT 81 5: 3 |

OIRCE G BIFIR @ AT 2T
a. 80 b. 112
c. 160 d. 172

36 f6 720 0 30 6 I2F RFTICeTa 701 |
TS 21
a. 20% b. 16f%

c. 18% d. 8 %

73.

74.

75.

76.

77.

78.

79.

80.

GG (IR G0 SRR e o o
A N 35% @ e T | =iees *eike

8% o Wi‘ﬂﬂm&\o Mz |
a. 43% b. 27%
c. 20% d. 31%

T AT G0 WS QiR 4% i e 7w faeet
7
a. 5=

c. 209>

b. 10%d
d. 25924

2 % 9 720 BIF @G3R A 5727 A9 1020 I
ST AW A (S BT | S[ET O 2

a. Rs.520 b. Rs.600

c. Rs.700 d. Rs.710
5%p.a @ 2 IRCAF &) 400 GBI AT QIR 5FJ
S ST Al 2

a. 151 b. 45

c. 35 d. 25

Wine &R (50 5 101 (@4, 55 &0 oot @2k

Wine-«3 fae(tet | @2 frite =ize 5 foib @t il

41 27, 99 FI=Te @@l '€ Wine -9 S 7iie % ?
a.1:5 b. 1:2

c.2:1
wm&ﬁﬁzﬁé%@{ﬁﬁ?mwﬁw

TS 2| IM WWWW@_ 3
ST SRS AN AR SRS (HG FOF
T, ©IRCe i oif (R6fS/a61) F© 2012

d. 1:1

a. 6 b. 8 .12  d. 15
60 /701 @0ol @6 G 30 ETRCS @I 4
wfegs w0 e (RoI)

a. 1000 b. 900

c. 750 d. 500

A €3 B &6 FE 10 e, B @32 C 15 faes, C
G432 A20 G 908 N | C 9F T IS

A0 AT 2
a. 60 1= b. 120 fas
c. 80 fuey d. 30 M=
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61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

IT isa

a. Irrational number b. Rational number

c. fraction d. Unreal number
1
If 5= 3, then 52 =7
! 1
a. 3 b. 9
c. 9 d. 3

The two equation 3x + 6 y =15, 9x + 18y =45 has

a. no solution b. a solution

c. intinite solution d. none of these

ABCD is a parallelogram. If ZABC = ZBAC
thenitis a

a. square b. rectangle

¢. Rhombus d. Trapezium

If (x) is a polynomiyal series. Then (—%j =0one
of the factor of f(x) is
b. x+3

a.x-3 c. 3x+1 d. 3x-1

x>~ Kx-24=(x-8) (x+3),K=2
a. 8 b. -3
c. 11 d. -5
ABCD is a parallelogram. E is the midpoint of

BC. If DE and AB are produceed to meet at F.
Then AF =?

3
a. JAB b. 2AB
c. 3AB d. %AB

Selling Price of a book is 40. If 20% discount
has given on the marked price, then find the
marked price?

a. 50 b. 90

c. 100 d. 120

The base of a histogram

a. frequency b. class boundaries

c. range d. class intervals

A square and a rectangle have same perimeter.
If there area are S and R respectively, then
a.5=R b. S>R

c. S<R d R>>¢?

There are Rs. 225 consisting of One rupee, 50
paise and 25 paise coins. The ratio of their
numbers in that order is 8 : 5 : 3. The number of
one-rupee coins is
a. 80 b. 112

c. 160 d. 172

72,

73.

74.

75.

76.

77.

78.

79.

80.

The cost price of 36 books is equal to the selling
price of 30 books. The gain is

a. 20% b. 16%% c. 18% d. 8%%

A shopkeeper fixes the marked price of an
item 35% above its cost price. The percentage

of discount allowed to gain 8%.

a. 43% b. 27% c. 20% d. 31%

In how many years a certain sum doubles itself
at 4% per annum simple interest?

a. 5 years b. 10 years

c. 20 years d. 25 years

A sum of money lent ot at simple interest
amount to Rs.720 after 2 years and to Rs.1020
after a further period of 5 years. The sum is

a. Rs.520 b. Rs.600

c. Rs.700 d. Rs.710

What is the difference between the simple and

the compound interest on Rs.400 for 2 years at

5% p.a.?
a. Rs.1/- b. Rs.4/-
c. Rs.3/- d. Rs.2/-

55 litlres of mixure of wine and water contains 5
litres more wine than water. 5 litres of water is
added to it. The ratio of the wine to that of the

water in the whole mixture is
a.1:5 b. 1:2

c.2:1 d. 1:1

A person has to cover a distance of 6 km in 45
minutes. If he covers one half of the distance

2
in 3 rd of the total time to cover the remaining
distance in the remaining time, his speed (in
km/hr.) must be

a. 6 b. 8 c. 12 d. 15

A train with a speed of 60 km/hr crosses a pole

in 30 seconds. The length of the train (in metres) is

a. 1000  b. 900 c. 750  d. 500

A and B can do a piece of work in 10 days, B and
Cin 15 days, C and A in 20 days. C alone can
do the work in

a. 60 days b. 120 days

c. 80 days d. 30 days
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